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Ukazka prikladu cislo 3.
Urcete vzdalenost bodu

M[0,5,2]

od primky, kterd ma parametrické vyjadreni
p.x=1+t,y=-2tz=4teRrR

Redent:
v=X-M=(1+t-5-2£2)
#=(1-2:0]
i;=1+:+10+4t=0
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Ukazka prikladu cislo 8.

Urcete vzdalenost bodu

C[4;12;4]

od primky AB, jestlize

4[5,3,2], B[10,-1, 2]

Reseni:

1.metoda

P x=5+5

y=3-4
z=2,teRr

y=CX = X -C=(1+5:-9-4t:-2)

V= 1+ 108+ 258% + 814+ 728+ 16¢% + 4

< 4

= 412 + 82+ 86

W= yfa1(1+1)°-41+86 proz=-1

5

2.metoda

=(5,-4,0)

v=CX = X - C=(1+5-9-4£-2)
1y =5+ 25t + 36+ 16t =0

41t = —41
=-1

< 4

v=(-4;-5-2)

|§|= 6+ 25+4 =£
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